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UI{IT CODEN\AME: BCP 225: APPLIBD STATISTICS IN PSYCHOLOGY

January - April 20l&l20l9 Enr,i Semester Exam - Time: 2 Hours
Instructions: Answer Questic;r OhrE (Compulsory) and any other TWO
questions.

QUESTION ONE

(a) The table below show's iror,r' stt-i,:rents cloing introclLrction to probability and slatistics class
periormed in an examination in tlr,: year 201 8 September - Decemb er 2Olg Semester.

CIass 20 -29 30-39 4(i
Frequency 2 4 a

(3 marks)
(3 marks)
(3 marks)
(3 marks)
(3 marks)
(3 marks)

of central tendency,

49 50-59 60-69 70-79 80-89 90-99
35 15 20 11 10

Required: calculate:

(i) The modal class
(ii) Median
(iii)Percentile range
(iv) Standard deviation
(v) Interquarrile range (Ie)
(vi)Mean average deviation

(b) There are three categories ol sr.imnar.y measures, namely. measures
measures of variation and measlu.es of normality.

Required; In view of the statement above, measures of central tendency include, mode, meanand median' Clearly describe r,i"hat is tneant by the term mode mean and median stating theadvantages and disadvantages of eacli and whereit is appropriate to us them. (I2 marks)



OUESTION TWO

In a manuf'acturing plant. ir da\''s toiai prodr-rctiorr ecluals to 9.000 items. fhree machines with a

daily'production capacilr'ot'4,000 urirls are avarlable in a tactory anci the probability that an item

is def-ective is 1o%, 2o/o t'tr 4% fbr niaichine A. B and Cl respectively. On a given day,4,000 items

rr,ere produced on machinc A.,1.00(, itcms on machine B and i,000 items were prodr-rced on

machine C. One iten-r is sclected at ralConi ancl is lound to be def'ective^

Required:
What is the probabilitr th:rt tl'rc- cict'cctive rnachine is;

(i) Machine A
(ii) Machine B
(iii)Machine Cl

(iv)Sumrnarize the importance o1' !lai,er's theorem

QTIESTION TIIREE

(a) Differentierte betr.veen the lbllorvii;s telms as used in probability and statistics.
(i) Null hypothesis anci aiterna111,1; l'i,pothesis.
(ii) Type one ancl typc tu,o error-s.

(4 marks)
(4 marks)
(4 marks)
(3 rnarks)

(4 marks)
(4 marks)

(b) A certain NGO can'icd ou[ a sur',,,;i tn a eerlain cornurunity in order to estatrlis]r the average
at ivhich the girls arc inarriecl.'l'i,e lesults olthe surve)'indicated that the marriage age for
the girls is 19 ye:irs. Irr order to c:rtablish the valrdity o] the mean marital age, a sample of 50
lvornen was intervier,r,ed and the arrelage age indicated that they got married at the age of l6
)'ears. Ilow'ever, tl-re dil'f'erent ag.rs i'rt rvhich they were married differed with the standard
der,,iation of 2. 1 year-s. ['he sanrpi,.: data indicates that the marital age is less I 9 years. Is this
conclusion true or not?
Required:
Conduct a statisticzrl test to eiti,,:r slrppofi the above conclusion drali,'n from the sampie
statistics i.e. the marriase age is i,-:ss riran 19 years, use a level of significance of 502.

(7 marks)

QUESTTOn{ FOUR

(a) The quality department ol a wir,': manulacturing company periodically selects a sample of
wire specimens in orcler to test ibr breaking strength. Past experience has shown that the
breaking strengths of a certain tl ire of wire are normally distributed with standard deviation
of 200 kg.A random sample of 6.1 specirnens ga\e a mean of 6200 kg.
Required:
Clalculate the population rnean at:)5o,'o level of confidence. (8 marks)

(b) A sample of 600 accourrts was tal<en to test the accuracy of posting and balancing of accounts
where in 45 mistakes u''ere fbuncl

! : r'


